{

N =
E =

T.R.

P.T. ST
N
E

N =
E =

RAMP K DATA

P.0.T. STA 4400+00.00
1,806,041.76
1,163,219.94

PROP. CURVE PR_RK-1
PI STA. = 4406+57.49
N = 1,806,648.99
E = 1,163,472.07

A = 18° 37 00 (RT)

D = T° 38" 427

R = 750.00°

T = 122.93"

L = 243.51

E = 10.01

DESIGN SPEED = 40 MPH
e = 5.6%

ENTERING CURVE:

S.E. RUN = 154.1"
EXITING CURVE:

T.R. = N/A

S.E. RUN =

P.C. STA. = 4405+34.56
N = 1,806,535.46

E = 1,163,424.93

A.

P.0.T. STA 4416+38.17
1,807,389.02
1,164,119.15

41,3’

112.8"

= 440747807
1,806,741.53
1,163,552.99

, RAMP_E DATA
o N P.0.T. STA 4100+00.00 PROP. CURVE PR_RE-2
) N N = 1,807,447.53 PI STA. = 4113+17.74 '
SN E = 1,163,906.24 N = 1,806,701.79
AN NN % E = 1,162,848.48 o
N \\\// 7 PROP. CURVE PR_RE-1 &= 24° 31 177 L) g
v NVAN NN PI STA. = 4109+21.04 D = 20° 57" 05" o~
A &< N\ \< N = 1,806,820.74 R = 275.00' M
12X 2NN\ E = 1,163,231.38 T = 59.76° m
“SHNANERN\ AN 3 —~0O
évé’ o AR NN AN A= 25° 37" 39" (RT) L = 117.04’ —1
oS &P PRNERACENY D = 11° 15’ 09" E = 6.42° <W[TT==pEea
5y AN R = 510.00" DESIGN SPEED = 30 MPH o
V:\ 7, \\\\\\ N T = 116.00" 6 = 2.0% g
N MRS SRS L = 227.75' ENTERING CURVE: Wi
MOV NN E = 13.03 T.R. = N/A =
NN SO DESIGN SPEED = 40 MPH S.E. RUN = 54,7/ =
AN N e = 6.0% EXITING CURVE: T
PR\ ENTERING CURVE: T.R. = 410’ O
o4 WA T.R. = N/A S.E. RUN = 54,7 :(‘
\ S.E. RUN = 110.1/ P.C. STA. = 4112+57,98
PROP CURVE PR_147C-1 \ EXITING CURVE: N = 1,806,719.52 =
\) \ A\ - TR. = N/A E = 1,162,905.55
77\ ] S.E. RUN = 185.8’ P.T. STA. = 4113+75,02
Y S P.C. STA. = 4108+05.04 N = 1,806,661.97
\\ \ B N = 1,806,899.68 E = 1,162,803.91
= E = 1,163,316.38
| ~ P.T. STA. = 4110+32.79 P.0.T. STA 4115+38.85 =
A\ | \\ 2 N = 1,806,786.33 N = 1,806,512.84 PROP CURVE EXCL57-5
PROP CURVE VEC_F1-2 Oq( \ \V’ Y E = 1,163,120.61 E = 1,162,637.00
A I % = PROP CURVE PR_RE-2
PROP CURVE VEC.C-2 A 4= x é}\‘? PROP CURVE PR_RE-1 PROP CURVE VEC_C-1
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PROP_CURVE PR-RJ"1—pROP CURVE PR.RJ-2 147TH ST DATA RAMP_F1 DATA
RAMP _J DATA P.0.T. STA 1000+00.00 PROP. CURVE PR_147C-2 P.0.T. STA 4200+00.00 PROP. CURVE VEC_F1-2
P.0.T. STA 4300+00.00 PROP. CURVE PR_RJ-2 N = 1,806,888.10 PI STA. = 1067+43.69 N = 1,806,536.89 PI STA. = 4210+94.41
N = 1,805,361.56 PI STA. = 4309+68.22 E = 1,157,202.32 N = 1,805,774.62 E = 1,162,607.53 N = 1,805,592.56 WESTERN AVE DATA
E = 1,162,206.41 N = 1,805,884.21 E = 1,163,541.46 E = 1,162,090.89
E = 1,163,006.33 P.0.T. STA 1006+61.20 A = 39° 31V 20" (LT) PROP. CURVE VEC_F1-1 A = 3° 00° 00” (RT)
PROP. CU?"“%OPSR;;;; A= 17° 54 28" (LT N = 1,806,908.89 D = 3° 57 08" PL STA. = 4206470.75 D = 0° 51’ 16" P-O&T-_ Sng‘og‘%‘fs*gg-oo
& SLA'- 1,805,726.89 D = 17° 41" 59" E = 1,157,863.09 R = 1,450.00 N = 1,805,905.49 R = 6,705.12" - 1164342
E = 1162,612.06 R 2 Jo00 T = 520.92' E - 11623816 T - r5es E = 1,164,342.45
= o0° 167 107 (F = 5L2r - L = 1,000.00 A = 23° 07' 29" (RT) L = 351.07
4 207 157 107 RD) L = 10L18" PROP: SURVE PRUTCIR £ 2 9073 D - 11° 15 09" £ - 230 P.0.T. STA 6024+00.00
R - 510.00" E = 4.0 N = 1,807.066.19 DESIGN SPEED = 40 MPH R = 510.00' DESIGN SPEED = 40 MPH N = 1,806,950.62
T - 900 DESIGN SPEED = 30 MPH E = 1161,959.04 e = N.C. T = 104.34' e = N.C. E = 1,164,083.75
L= 1_(;’ 98’ e = 2.0% A = 41° 25’ 13.99” (RT) T.R. = N/A L = 205,51 T.R. = N/A
E - 8.07 ENTERING CURVE: D = 3° 13’ 40.8" S.E. RUN = N/A £ = 10.56" S.E. RUN = N/A P.0.T. STA 6028+00.00
DESIGN SPEED = 40 MPH TR = N/A R = 1,775.00" P.C. STA. = 1062+22.77 DESIGN SPEED = 40 MPH  P.C. STA. = 4209+18.83 N = 1,807,341.53
2 o S.E. RUN = 54.7' T - ETL.08 N ="1,806,104.01 6 = 6.0% N = 1,805,721.29 E = 1,163,998.99
e _} ING CURVE: EXITING CURVE: L = 1.283.19’ E = 1,163,137.89 ENTERING CURVE: E = 1,162,210.30
ENTERING CURVE: TR. = 410 T 1283 P.T. STA. = 1072422.77 - . P.T. STA. = 4212+69.90
- p TR = 413
I.R. = N/7A S.E. RUN = 54,7 O | E = 12262 N = 1,805,777.36 SE. RUN - 165.1° N = 1,805,470.26
S.E. RUN = 110.1" - + «| DESIGN SPEED = 40 MPH E = 1,164,062.37 - : E = 1,161,964.92
T RVE: P.C. STA. = 4309+17.01 = N.C EXITING CURVE:
EXI] éNG_ CNU/A d N = 1,805,865.23 S A TR = N/A
R. = E = 1,162,958.77 i P.0.T. STA 1082+85.32 S.E. RUN = 110.1/
.E. = 185.8' z S.E. RUN = N/A . £ - P.0.T. +70. .
PcS ESTRAUN= 43132354 82 PeT- iTﬁ' 1_85'53190121339 P.C. STA. = 1040+88.99 N = 1,805,782.94 P.C. STA. = 4205+66.41 ONTzsiT.go;,zz;lgo.;%% NOTE:
" N = 1,805,665.93 E - 116304575 N = 1,807,040.44 E = 1,165,124.91 N = 1,806,003.71 E = 1161.692.64 CONTRACT 60K14 USES THE FOLLOWING ALIGNMENTS:
E = 1,162,544.38 T N E = 1,161,288.45 - ETZ 1’.16422’?,176.;3;(92 T I-57 AND KEDZIE AVENUE. ALL OTHER ALIGNMENTS =
P.T. STA. = 4306+34.81 P.0.T. STA 4312+27.98 o 200 w00 N P.T. STA. = 1053+72.18 TR 05.326.95 ARE FOR FUTURE CONTRACTS AND ARE SHOWN FOR N
N = 1,805,760.65 N = 1,806,050.80 o™= e ™= s == N = 1,806,641.85 £ - 1162,310.21 INFORMATION ONLY. 2
E = 1,162,696.66 E = 1,163,207.26 SCALE: 1% = 2000 E = 1,162,478.93 162, =
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